Chapter 15: Thermodynamics
College Physics

Chapter 15

thermodynamics

Problems


1.
Find the change in internal energy using the first law of thermodynamics. Q > 0 and W > 0.
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11.
(a)
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(b)
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2.00 kJ of heat is exhausted.


19.
The minimum amount of heat is discharged when the steam engine is reversible.
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 of heat is discharged at minimum.


33.
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 and since the water is initially at 0(C, 
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 is the amount of heat that must be removed from the water to freeze it.
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45.
(a)
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(b)
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57.
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 is the efficiency of a reversible engine.
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 will result in a greater efficiency than increasing the high    temperature reservoir by 
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73.
(a)
Stage B:
W = 0 and 
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 for a constant volume process.
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 for an ideal diatomic gas, and 
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Calculate the change in entropy.
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(b)
Stage D:
W = 0 and 
[image: image21.wmf]UQ

D=

 for a constant volume process.
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 for an ideal diatomic gas, and 
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Calculate the change in entropy.
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(c)
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